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TECHNICAL KNOWLEDGE
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11.

12.

13.

14.

15.

16.

17.

18.

19.

If the frequency changes from 50 Hz to 100 Hz keeping voltage constant, the inductive
reactance of coil connected to supply-

(A) Remains same (B) Becomes half (C) Becomes doubled (D) Becomes 4 times
One mega ohm resistance is equal to-
(A) 100 KQ (B) 1000 k€2 (C) 10000 k€2 (D) 100000 k2

Phase relationship between the applied voltage and the current flowing through the
inductive circuit is-
(A) Current leads the  (B) Voltage lags the (C) Current lags the (D) Current in phase

voltage current voltage with the voltage
Inductance is measured in-
(A) Henry (B) Farad (C) Ohm (D) Mho
Auto transformer is one which has-
(A) Only one winding (B) Two windings (C) No windings (D) Three windings

If two resistances of 3 and 2 ohms are connected in a seties circuit and a 3 A current is
flowing, what is its total voltage?

A) 15V B) 18V © 8V D) 12V

Which of the following processes is used for joining two metals'without the use of heat?
(A) Soldering (B) Riveting (C) Brazing (D) Welding

The ratio of the RMS value to the average value of AC is called-

(A) Crest factor (B) Form factor (C) Peak factor (D) Specific resistance
The number of slip rings in a squitrel cage induction.motor is-

(A) Zero (B) One (C). Two (D) Three

Megger is used to measure-

(A) Insulation (B) Inductance (G) Voltage (D) Capacitance
The standard frequency of domestic AC-mains supply voltage of 230 V in India is-

(A) 25 Hz B) 50 Hz (C) 100 Hz (D) 1000 Hz

The reciprocal of resistivity is-

(A) Conductivity (B) Admittance (C) Impedance (D) Reactance

The filament of an incandescent lamp is made of-

(A) Carbon (B) Nickel (©) Aluminium (D) Tungsten
Kirchhoff's voltage law (KVL).works on the principle of law of conservation of-

(A) Charge (B) Energy (C) Mass (D) Flux

The resistance of 200.W, 200 V lamp is-

(A) 100 Q B) 200 Q (C) 300 D) 400

The function of'breather in a transformer is-
(A) To provide oxygen (B) To provide cooling (C) To arrest flow of (D) To filter the
to the cooling oil air to the winding moisture when transformer oil
outside air enters
the transformers

Which of the following devices convert AC power to DC power?

(A) Alternator (B) Generator (C) Rectifier (D) Transformer
The direction of rotation of conductor of a DC motor can be determined by-
(A) Ampere's law (B) Fleming's left hand (C) Fleming's right hand (D) Lenz's law

rule rule
The line voltage in a three phase star-connected system is equal to times its phase
voltage.
(A) 1.414 B) 1.732 (©) 2.236 D) 2
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What is the rate of flow of an electric charge?

(A) Electric current (B) Electric potential ~ (C) Electric resistance (D) Capacitance
Electrolyte used in Edison cell is-

(A) H2SOs B) HCI (©) KOH (D) KMnOs
The wire of 2 SWG is equivalent to diameter of-

(A) 5.38 mm (B) 5.89 mm (C) 6.4 mm D) 7.01 mm

International ohm, a unit of resistance, is defined in terms of-
(A) Column of mercury (B) Cube of carbon (C) Cube of copper (D) Cube of aluminium

How should a galvanometer convert into an ammeter?

(A) Resistance (B) Resistance (C) Capacitors (D) Capacitors
connected in connected in series connected in parallel ~ connected in series
parallel to it with it to it with it

Constantan contains-

(A) Silver and tin (B) Copper and (C) Tungsten and silver (D) Copper and nickel

tungsten

Heating element of electric iron box is an alloy of-

(A) Copper and nickel (B) Nickel and cobalt  (C) Iron and (D) Nickel and

magnesium chromium

The number of parallel paths in wave winding is-

@A) 2 ®) 3 © 4 D) 5

In a electric iron, the transfer of heat from coil to base plate is mainly through-

(A) Conduction (B) Convection (C) Radiation (D) Partial conduction
and partial
convection

For a frequency of 200 Hz, the time period will-be-
(A) 0.05s B) 0.005s (C) 0.0005 s D) 0.5

According to Indian Standard Institution, fans, sockets and light shall be restricted to
in a sub-circuit.

(A) 200 watts and 5 (B) 300 watts,and 5 (C) 400 Watts and 6 (D) 800 Watts and 10
points points points points

Which component of fluoréscent tube light is used to get voltage surge at starting?

(A) Tube (B) €hoke (C) Filament (D) Capacitor

The difference of potential between the two terminals of a cell in an open circuit is called

the of a cell.

(A) EMF (B) Terminal voltage  (C) Charge (D) Power

A capacitor consists of-

(A) Two insulatots (B) Two conductors  (C) Two insulators only (D) Two conductors
separated by separated by only
conductors insulators

The hum in a transformer is mainly attributed to-

(A) Load changes (B) Oilin the (C) Magnetostriction (D) Mechanical
transformer vibrations

Which of the following device stores energy in the form of magnetic field?

(A) Resistor (B) Capacitor (C) Inductor (D) Transistor

The scale of permanent magnet moving coil instrument is-

(A) Uniform (B) Non-uniform (C) Cramped at the (D) Crowded in the
lower ends middle
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Which of the following is an example of absolute instrument?

‘A) Voltmeter Ammeter C) Watt-hour meter D) Tangent
( g
galvanometer

In a transformer, sludging is principally due to-

(A) Moisture present in (B) Dust particles (C) Oxidation of oil (D) Vaporization of oil
oil present inside the
tank

How many coulombs of charge flow through a circuit carrying a current of 10 A in 1
minute?

(A) 10C B) 60 C (C) 100 C D) 600 C
GLS lamp works on the basis of-
(A) Heating effect (B) Chemical effect (C) Electrostatic effect (D) Magnetic effect
How many limbs are there in the core of a shell type transformer?
() 5 ®) 4 © 3 D)2
Clip-on type meter is also called-
(A) Megger (B) Energy meter (C) Tachometer (D) Tong tester
Interpoles are meant for-
(A) Increasing the (B) Decreasing counter (C) Reducingspatking (D) Converting
speed of the motor EMF at the commutator armature current to
DC
Brushes of DC machines are made of-
(A) Carbon (B) Hard copper (C), Aluminium (D) Nichrome
The recommended creepage distance for insulators.in heavily polluted areas are-
(A) 16 mm/kV B) 18 mm/kV (C) 20 mm/kV (D) 25 mm/kV
Alternators are rated in which of the following?
(A) BHP (B) HP (©) kJh (D) kVA
An induction motor, in general, is analogous to-
(A) An auto- B) A two-winding (©) A two-winding (D) A three- winding
transformer transformer with its transformer with its transformer
secondary winding secondary winding
open-=circuited short-circuited
Which of the following types of insulator is employed to insulate the lower part of the guy

wire from the pole for the safety of people?
(A) Pin type insulator (B) Suspension type (C) Egg or stay insulator (D) Shackle type
insulator insulator

The dummy coil.in'DC machines is used to-

(A) Eliminatereactance (B) Eliminate armature (C) Bring about (D) Eliminate harmonics
voltage reaction mechanical balance developed in the
of armature machine

The creeping error in single phase energy meter can be minimised by-

(A) Adjusting braking (B) Adjusting the (C) Use of short (D) Drilling two holes in
magnet shaded band circuited loops on the disc on the
the outer limbs of opposite side of the
the shunt magnet spindle
Which of the following protects a cable against mechanical injury?
(A) Bedding (B) Sheath (C) Armouring (D) Serving
Filament lamps operates at power factor. Ug
(A) Unity B) 0.707 lead (©) 0.707 lag D) 0.5 lead é”
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The capacity of a refrigeration unit is measured in-

(A) Ton B) eV (C) Decibel (D) RPM

Which of the following is a hard solder?

(A) Lead —tin (B) Lead —silver —tin  (C) Lead — silver (D) Copper — zinc
At stand still condition of an induction motor, the value of slip is-

A) 0 B) 0.25 ©) 0.5 D) 1

The construction of synchronous motor is similar to-

(A) DC compound (B) Slip ring induction (C) DC shunt generator (D) Alternator
motor motor

Which of the following motor is used in the mixer?

(A) Repulsion Motor  (B) Reluctance Motor  (C) Hysteresis Motor (D) Universal Motor

During start-up of resistance-start motor, the centrifugal switch until the motor

speeds up.

(A) Closes and (B) Closes and (C) Opens and (D) Opens and
connects the start connects the run disconnects the run disconnects the start
winding only winding only winding winding

If the capacitor of a single-phase motor is short-circuited, then the motor will-

(A) Not start (B) Runin the same  (C) Run at reduced (D) Run in reverse
direction speed direction

In three-phase squirrel-cage induction motors, the rotor conductors are-

(A) Kept open (B) Short-circuited (C) Short=citcuited (D) Connected to
through slip rings through end rings insulation

The dark and bright lamp method is used for in an alternator.

(A) Load balance (B) Load transfer (C) Providing (D) Synchronization

mechanical strength

If the speed of an alternator is reduced by half, its generated EMF will be-

(A) Doubled (B) Tripled (C) One-half (D) One-third
The difference between the speed.of the rotating stator field and rotor is termed as-
(A) Slip (B) Pitch (C) Module (D) Range

A 50 Hz, 3-phase induction motor has a full load speed of 1440 RPM. The number of poles
in the motor is-

(A) 2 B) 4 © o D) 8

In a shaded pole motot;shading coils are provided to-

(A) Reduce winding (B) Reduce friction (C) Produce rotating (D) Protect against
losses losses magnetic field sparking

The armature of DC generator is laminated to-

(A) Reduce Hysteresis (B) Reduce eddy (C) Provide air cooling (D) Reduce friction loss
loss current loss passage

The three terminals of a bipolar transistor are-

(A) Emitter, collector (B) Emitter, collector  (C) Collector, gate and (D) Drain, emitter and
and base and gate base base

The forward biased voltage for silicon diode is about-

A1V B) 0.8V © 07V D) 03V
How many layers does a thyristor have?

(A) 2 ®) 3 © 4 D) 5

The process by which impurities are added to a pure semiconductor is-

(A) Diffusing (B) Doping (C) Drift (D) Mixing



71. The tooth or slot harmonics in an induction motor is caused due to-
(A) Variation of air gap (B) Leakage flux (C) Non sinusoidal (D) Skewing in the rotor
reluctance nature of input slots
voltage
72. An SCR has PN junction.
(A) 2 B) 3 © 4 D) 5
73. A CRT screen is coated with -
(A) Sodium (B) Calcium (C) Phosphor (D) Aluminium oxide
74. How the cathode of a Zener diode is represented in its symbol?
(A) A triangle (B) An arrow head (C) The letter 'Z' (D) The letter 'D'
75. Photodiodes can turn its current on and off in-
(A) Milliseconds (B) Microseconds (C) Seconds (D) Nanoseconds
76. Which of the following acts as a depolariser in a dry cell?
(A) Carbon powder (B) Manganese dioxide (C) Ammonium (D) Zinc chloride
chloride
77. Creeping is observed in-
(A) Energy meter (B) Voltmeter (C©) Ammeter (D) Hydrometer
78. In circuit breakers, the arcing contacts are made of-
(A) Porcelain (B) Copper tungsten  (C) Aluminium.alloy (D) Electrolytic copper
alloy
79. If a wire has a resistance of 0.5 €, then its conductance will be-
(A) 1.5 Siemens (B) 2 Siemens (C) 1 Siemens (D) 0.5 Siemens
80. A parallel circuit is that it has-
(A) All elements (B) Same current (C)"All elements (D) All elements placed
connected end to flowing through all connected across side by side
end the elements power supply
qHA T AT
1. gfe Freest A R T@d g gy & 50 Hz § 9% 100 Hz F foar srar g, aF Ry srgfd |
TET FEAT F IR T (inductive reactance) T FIT THTH ZIAT &2
(A) 979 TaT &l B amgrzrsmargl O IrETErSTargl (D) I IET B STAT B
2. & AT A qfaay ¥ IO AT B
(A) 100 KQ B) 1000 kQ (C) 10000 kQ (D) 100000 kQ
3. I gy o rfaT qieest SiiX SUH TATIRT ST & = FeAT GaeT 9T gIaT 87
(A) g, AreesT | B) Freest, grar & © g, T |/ (D) g, redst & &
FURTTHT It Bl TENTTHT BT 2 TENTTHT BT 2 THT FeAT § gl gl
4. YT & H /YT 14T B
() 3 ®) #rz © s (D) T (Mho)
5. iy FrawE g FawE Y, rad TRl

A) Faa uwarsta B raEREa O wrareRrag  O) faaEET
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- 71 3 3 2 A ¥ 1 vy o Soft afwy 3 o gu § sk smd 3 A arryaRa gt g,

THHT T FTeasT AT HITQ|
(A) 15V (B) 18V ©) 8V D) 12V

- SSHT T ITIT FhT foAT 2 et &y strew & forg Ao & & e i 1 soesr G

STaT 8
(A) Fre=tiT (B) fearfar ©) srfSir D) FfegTr
- AC F RMS HTH 3 ATHTT {1 & AT HT FIT gl STTAT 8§?
(A) e IO B) =1 (Form) Trw  (C) @ (Peak) T (D) fEfore wfawry
- e et Sea Wi # o Fr 7wy fhaet gidt &2
(A) g7 B) = © =r D) Fi=
BT T STIIT % 7Ta & forg T strar B
() FEeEagT B) 7 ©) Freest D) grfar
AT & 230 V qlees ATt T AC & AT Aot it AT g < 2l
(A) 25 Hz B) 50 Hz ©) 100.Hz D) 1000 Hz
TIATERAT (resistivity) T TR B
(A) =TT B) yareTar (€) gfdaTeT (D) gfe=ma (Reactance)
(Conductivity) (Admittance) (Impedance)
AT A T (hATHE fOHad a7 Irar 8?
(A) FrET B) et ORuzuitpr D) Freas
R T dieest A7 (KVL) LT F G I FT9 FaT
(A) sraer Byz= ©) zogam= D) v
200 W, 200 V /T T FiaLre 2l
(A) 100 Q (B) 200 Q ©) 300 Q D) 400 Q
TR | G AT FY 87
(A) eftqers o<t =T B) arERw #r sftaew (O smargedrgar (D) o< & oo &
ARSI &1 AT VT HTAT TEARTHT § To9T FIAAT
FLAT FAT E, 3G9I
THY % TATE
TS AT
Rufea § § F19 97 STHr AC T FF DC qia< § gfkafda #<ar g?
(A) greatex (B) SFreex (©) TEFewmT D) FraHET
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T DC HIET F ATAF  GOIF T (QQIT fFdeh T 1 6l ST el 57
A v s few @) wwwamer O wiEwwaogrr O) o9 w1 qaw

EARERE] ERERL
305 WR-GAIT Feed A1 e oqq wT qleesT & [ F Jqa< gial gl
(A) 1414 ®) 1.732 () 2236 D) 2
= sraer & TaTE it I AT T FTATAT 87
(A) forera e B) Fera = © Fega wfadrer D) Fufeda
UfRH 9 # WIH AT AT (Electrolyte) T €T g2
(A) H2804 @®) HCl (©) KOH (D) KMnOs
2SWGHFAR I AT FIEL grar gl
(A) 5.38 AT (B) 5.89 foeft © 6.4 ol D) 7.01 foft
wire Y Trs, Te@emer i i foeeh =t & afoaria frar ST g2
(A) aT¥ & &9 (B) st 3 == © i F e D) vegHifT= F ==

FearefieT it THieT § T3a+ & forg == waar 7riger
A zargamraeF T @) zar avfywm g O/zapaumaewm O) zow aoft #9 5
e SITE &7 TrALre SirE &7 Y HyThe S a0 YT ST AT

e =TT LG e
Fiveded d AT grar 81
(A) =y =i foer B) grardpdares O S sizaar D) qiar siw Fwa
T AT iRy 7 ST uelide, £ ArTeTg FT I AT RN
(A) T7aT T e B) faeet sz wraTee (O s i D) et T wite=m
Tffere
AT TSI (AUT FSAT) H GHTAL T ht G fhat grat g7
A) 2 ®) 3 © 4 D) >
TATHEH A W, TS (1) F T WIS T FOAT T AT T ERURELE]
(&) =TT B) g © fafwor D) spifars =rere 3w
EURERERE]
200 Hz Ft srgRr ¥ forg, smadenrer faaer grme
(A) 0.05s B) 0.005 s ©) 0.0005 s D) 0.5s
AT AT GEITH o AT, ST-TRTT H U@, Fihe 3 TH1LT % fifaa Tar
ST
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TR (R S[F ATEE & FhT Faa9 T ST TG (FSTET) & THT FieasT gl T L
* forg T SmaT @2

A) == B) == (©) dq(Filament) D) wemfi=
T G IIqT § 4 & ¥ (A1 & o & A9aia< o 9 F:7 FgT 14T gl
(o) EMF (B) zfifeet areest ©) strarer D) erfr
TR o e s T g 8

(&) =rereht T quFga (B) Seeresd g ©) Faa et (D) Faer a1 ATerht
EESEEAY TAFHT &I ATADT

TR | AT (hum) & T T9Tg ¥ AT v gl

() e ¥ qRads B zrmwrmm g (O Fah D) 7 =it
ﬁ'@q'ﬂT(Magetostric
tion)

FRafcriea & & 19 91 STHTT G & 6 €T H Holl GUTRd Hedl g?

(A) Tfowex (B) Fuferex ©) F=7ex D) ziforeex

IS 4% a1 o (I er) HIIT T FHT /AT T gl

(A) TFTHTT B) T wFEHET ©) fFoer Tt oz vor (D) &= § w2 ger
EE

FRaforiea & & #1991, Ahe 7w 3= FrosSerEer e?

(A) FreetieT (B) uHtex © aresardficr . D) &Sz Feanrdex

TEHET |, TR (sludging) TEIT: it a9Tg ¥ grav gl

W) F@HARE T B dmFHdgr e (O qa® At D) qo F aredrwr

€T3 FHTT
1 e § 10 A F a7 Fa12a A aTet IRG & Fohae FoTH ey Iari2a grar 8?
(A) 10C B) 60 C ©) 100 C D) 600 C
GLS @7 % ST I HTH HLaT g
(A) FTae AT B s g (O Raag@awa D) Fashrg gara
Y (AA) TTET TEHTH F B H Fhae fefg gra 22
A) > B) 4 ©3 D) 2
Arg-ate ereg Hex : ot T STTaT B
(A) T (B) mesff dfiex ©) Z=mrdtex (D) & Teex
SaElat (Interpoles) T T FTH g7
) Arezdraawr @) adEr EMF&RT (O wrgeer qr =i (D) = e &1 DC
JETET T T HH HLAT H afafaa feAr
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DC #sfiHT & 791 fohed T g &7
(A) =raw (B) 2 qrar © wegitaas

e S 8t ¥ SR ¥ for srpeifire Frerdor o8t P 22

(A) 16 mm/kV (B) 18 mm/kV (C) 20 mm/kV

FeetaeT #t e A § 9 frd Yy sreft @2

(A) BHP B) HP ©) kJh

TTHAA HIST, AT ¥ SATET grdv gl

(A) e atar gmeae B) e 2 arEfET ©) e 2-aTEfEw
TR, forereht STHTHT, e

ESIREEIEEUED

o

2l 2l

EGIREICIEIERIET]

EECIPCRERIRIRI

(D) Atz

(D) 25 mm/kV

D) kVA

D) w3 amE=ET
TERTHT

A

AT T T forg 9 & 8 I-a1 F fReer iRe & Faggaea & g R § & fg v s

AT FT STANT F3AT ST 82

A) i zrzr Soer. (B) At etey
BRI LAl AT

DC wsfi=T # =t wiger #1 ST ey FohaT smar &2

(A) gfgaTdt areest w1 (B) sd= wiafwat &r. (O) = &1 73"

THTH 7 % forw HHTH FTA % 0 HIAT AT, T

= ferg

THA ot Fort Hiex § faador e v foave awg & & v s1m aarar 87

(A) 3T = A1 BygEe iz #r ©) stz Fa F aredt
THTIIISTT Feh TS % [RERELERIRD]

©) warEe @@ -ar) D) g z=2q Sqwex

D) w1t # o= [fvra
T (GTHTTa) il
T &3 & forw

D) o= F g fi
TJoF ot REw war

T HITAN FLF a3 FLoh

fReforfera & & s a1 Feer S gifs afd & i Far e

() gt (B) ofter ©) smfr
e dw 9T Hhee X Gl grar gl

(A) T B) 0.707 srTTHY (© 0.707 weATTHT
weftae grs it ariar Fr Fas 7T STar g2

(A) == B) eV ©) fraer
FRaferfea & & #19 @F FR-Aee fit §=7qT 8?

) oz - oo Baz-=dr-fa O F=-=id

D) #fT

D) 0.5 EETTHT

D) RPM

D) qtar - srEar
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TSHI Hie it st oo Rufa &, Regwraw @)

A0 B) 0.25 ©) 0.5 D) 1

TEIHTSAT HIEX (synchronous motor) Ht AT e THIT graT 82

(A DeFIRsE AT B) gdff g ymor wrex (O) D sieser D) yaamEmds
(et T Se7er e CEEGESY
)

e & Faforfeaa # & g Aex &1 STt [T srar g2

(A) fqeerT Arex (B) Rerere® A O fgeerftmarer D) gFaEd A<

TRre-ga i A1 & TadT (FST1ET) F I, Wi it T 5 a6 AR/ fa=
|
(A) 57 TgaT g i #ae (B) sx wgar g o waer (O garwgargsiw,. D) gar warg i

A (FeTe) AT HATAF () EEICERCG) PEGERCADEIEER
F Bl SEAT g AT Rrsiigarg arsfeaar 1 fae e #ea
A AT g g

A WS- WIS T HETRA T g1 S0, Y HreL |
(A) w21 5T BRI B) gare faem & Tt O Fr afg T et (D) =T fRom # =orft

3T FoCet o7 ESF WX |, e AT &l |

A gararsmarg B adfaeat @w O sffwaeat @s O) FEEaree G o)
) & merw & F g 7 EEISEICIE
AU AT SITar A AT Srar

@ g
A H % g =T#h U srse o9 fafer &1 o e strar )
(&) A Hqe (B) a1 siqwor © =it aie e (D) geashTe (Synchroni
FO zation)
i3 forelt sreexaeT it i e et 31 STt &, a7 S9T ST EMF 2T ST
(A) FrgET B) e AT © sra D) o= fagrs
U T & AT U Al T F HT FHl FAT Hgl 1T 87
(A) feery B) fo=r © =Ate= D) ¥
50 Hz, 3-%ST SSFIA AT it T A (F A1e) TAT 1440 RPM Bl HIZT H ¢AT (poles) it €&AT
et grfie
@A) 2 B) 4 © 0 D) 8



65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

717.

s ey e, AFET ot w1 F A T B
) AR et A (8) o gt Ay A (O b T A (D) e & g
FH FAT FTAT ST FAT FTAT
DC ST & AR &l gefoa (@fAes) #=9i fFar smar g2
(A) FReetem griaat &1 B) viaw gy graat &1 (C) arg ofiqes wax (D) =y grfe=i &1 79
FH 7 & o FH KT F forg F i) A T T o for
T o ot

88T (bipolar) Tiforeex & i =fife=r &
(A) uftreT, Ferme d@ir. B) ufiey, woraer e (O) werger, Tz e aq D) g, ufie dfw aw
o T

fRrfet st F AT o JfeeT (B a/EE) qieest AT grar gl

(A) 1V B) 0.8V ©) 0.7V D) 03V

AIITRE # fhast uxd gl 87

A) 2 ®) 3 © 4 D) >

& ST | et e i TfwaT T 74T FgT Tare?

) e Twfsim B) erfdr O = D) fersgor (fam

SSHE e § TF T (e gt (I &av) & a7g ¥ SAA I 2

(A) are STt et (B) T (Leakage) © zmEaeeafit  O) TJerwied

H qfvade A RS ICEIR R EaT] [RECEE]

SCR & PN Si#¢19 21 gl

A) 2 B)3 © 4 D) >

CRT &hi ¥ AT Bt 3

() Fiferw B) Ffoorr (©) wreRe (D) weehfamw
AFATEE

T STATE & TNF & ITF FIIE HT ST T TAT ST /)

(A) Frast (B) = T 71 ©) 7' sreax D) D' sreaT

BT H 37qT &I T AT ST AR FT TR B

) et B) ATz © Fe D) F¥rireRe

I A | AF & F AT S F F H T T 27

(A) FTeT qT3ST B) #velts © s e D) o Fess

SEEIESIESS
ffador . ¥ I@rIT@ard Q
(A) F=t ATef (B) Freatiex © srfiex D) srgaraTdT §°
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78. {fdhe 3T T 3 % FicTe [HFHd a9 g &7
(A) T B wardmeea @it (O ugtaf=am g O) setes wiox
[EEEIK
79. i I FHT QAU 0.5 Q g, TT TR ATARA gl
(A) 1.5 e B) 2 = © 14" D) 0.5 e\
80. g ufay #-
Q) 7t stz BT | B) ot sreat | © adt s afs D) Tl st qr-am™
EERIERd AT AT IART AT AL TR ST 2
gl 2l
GENERAL APTITUDE
81. Who was the first Governor of Odisha after independence of India?
(A) M. Asaf Ali (B) Kailash Nath Katju (C) P.S. Kumaraswamy (D) Bhim Sen Sachar
Raja
82. How many districts are there in Odisha?
(A) 28 B) 30 € 32 D) 33
83. Simlipal National Park is located in which district of Odisha?
(A) Nabarangpur (B) Mayurbhanj (€) Deogarh (D) Sundargarh
84. Odisha shares its border with Indian states.
(A) Three (B) Four (C) Five (D) Six
85. In which year was the state's name Orissa changed to Odisha?
(A) 2009 (B) 2005 (C) 2011 (D) 2013
86. The 52nd annual meeting of the Asian Development Bank’s (ADB) board of governors was

87.

88.

89.

90.

91.

92.

93.

held in-

(A) Germany B) Fiji (C) India (D) Spain

Who among the following svas appointed the Chairman and Managing Director of the ITC
Limited in May 2019?

(A) Sanjiv Puri (B). Nakul Anand (C) Sumant Bhargavan (D) S. Sivakumar
India’s first global, Mega-Science Exhibition ‘Vigyan Samagam’ started at-

(A) Jaipur (B) Kolkata (C) Mumbai (D) Chennai
Who won the men's singles title of 2019 Madrid Open tennis

tournament?

(A) Novak Djokovic ~ (B) Roger Federer (C) Andre Agassi (D) Andy Murray
Who won the Purple Cap for highest wickets in the IPL 2019?

(A) Jasprit Bumrah (B) Rashid Khan (C) Deepak Chahar (D) Imran Tahir

If 54 is divided into two parts such that the sum of 10 times the first part and 22 times the
second part is 780, find the larger part.

(A) 24 B) 34 ©) 30 D) 32
Evaluate: 617 + 6.017 + 0.617 + 6.0017
(A) 6.2963 B) 62.965 (C) 629.6357 (D) 6296.357

If P and Q can do a job in 12 days and 9 days respectively, find the ratio of the work done
by P and Q separately in 1 day.

(A) 3:4 B) 4:3 ©) 3:7 D) 4:7



94.

95.

96.

97.

98.

99.

If the selling price of 50 articles is equal to the cost price of 40 articles, then find the loss or
gain per cent.

(A) 20% loss B) 20% gain (C) 25% loss D) 25% gain

After spending 30% of the money he earned, Vijay is left with Rs.3500. How much money
did he earn?

(A) Rs.12000 (B) Rs.15000 (C) Rs.5000 (D) Rs.4000
Choose the MISSPELT word.
(A) Pretenticous (B) Objectionable (C) Persistent (D) Intimidate

Fill in the blank with the most appropriate word which will suit the context of the sentence.

Kumar eventually accepted our rules with a certain .
(A) Reluctance (B) Disgust (C) Conscience (D) Shame

""The following sentence is divided into four parts (L, M, N and O). Rearrange it in the
proper sequence in order to make a meaningful sentence.

(L) Basically his life was like a straight line

(M) Even though Gandhiji went through

(N) Becoming a mahatma

(O) Several turning points while

(A) OMNL (B) MONL (C) LONM (D) OLNM

Choose the correct synonym of the given word from the options given below.
PENITENCE

(A) Approval (B) Shamelessness (C) Happiness (D) Repentance
100. Choose the correct antonym of the given word from the options given below.
GENUINE
(A) Authentic (B) Original (C). Positive (D) Fake
qTHT AT
81. W it TaA=aAT F TS ATSLAT F TZA TSFITH HIT I?
(A) HT. 9 AT B) Ferer AT Fresyy (O . wH. FEETr O) fwagage
TS
82. feem # g1 fovaw By g7
(A) 28 B).30 () 32 D) 33
83. fRwetaTer TP ST AT & e o # R @2
(A) FEETR B) gz © Tz D) grawre
84. Frfeer Trer it HwT AT TAT A F&T g0 &
(A) e B) =T ©) ar= D) =:
85. e o SHAT TS FT ATH TIAF A ST HT FaAqT 7T?
(A) 2009 (B) 2005 (C) 2011 (D) 2013
86. T Sa@YHE §F (ADB) & SIS A% T4 =l 52 AT ATV S5 gl gs AP
(A) ST+ (B) fepsft ©) s D) o
87. fawfafaa # & 358 915 2019 ® 1'1C forfies =7 sreaer sk waiy Rees A e mame
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(A) =stta g B) 7 ez ©) goa 9rtaT D) wx. foagar



88.

89.

90.

91.

92.

93.

9.

95.

96.

97.

98.

99.

100.
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AT Y agelt afsas, A-fAasr yedht s qunmr £ qreaa wgt gs die

(A) ST (B) rerhrar © H=2 D) z=r2

#f3T raw 2= gatHe 2019 T TEET FT Tha Feare e strar?

(A) TraTs ATl B) T HET (©) sreg sTTT D) v

IPL 2019 ¥ gaifares fake a9 F e adsr Fq fFaa share

(A) STersfta qaeTg (B) Trforg == ©) <9 =757 D) =z arfex

AT 54 FT T THIT T AWM A fasriora R SITaT & T aget 97 3 10 I 3= @ AR & 22 I
T TRTHA 780 §, AT TST W ATA FR

(A) 24 (B) 34 ©) 30 D) 32

T & 617 + 6.017 + 0.617 + 6.0017

(A) 6.2963 (B) 62.965 (C) 629.6357 D) 6296.357

T2 P 3iik Q et &1 1 v 12 iR i 9 i § e aa §, 1 R’ ¥ P ok Q g st=vr-s1er
T T T T AT A1 R

(A)3:4 (3)4:3 (C)337 (D)417

T3 50 TETN FT FAHT ToF 40 TEGAT 6 FF T b T8 AT I AT ATH TTaQqrd 1 H

(A) 20% BT B) 20% @ (©) 25% BT D) 259, T

TSI ST FHTT &9 &7 30% @ HEA o qTE, STHAT T3500 T4 | S fFhaw T FA19 A7
(A) 12000 B) 15000 (C) 5000 (D) %4000

Choose the MISSPELT word.

(A) Pretentieous B) Objectionable © Persistent D) Intimidate

Fill in the blank with the most appropriate word which will suit the context of the sentence.
Kumar eventually accepted our rules with a certain .
(A) Reluctance (B) Disgust ©) Conscience D) Shame

""The following sentence is'divided into four parts (L, M, N and O). Rearrange it in the
proper sequence in order to make a meaningful sentence.

(L) Basically his life.was like a straight line

(M) Even though Gandhiji went through

(N) Becoming asmahatma

(O) Several turning points while

(A) OMNL B) MONL ©) LONM D) OLNM

Choose the correct synonym of the given word from the options given below.
PENITENCE
(A) Approval (B) Shamelessness (C) Happiness (D) Repentance

Choose the correct antonym of the given word from the options given below.
GENUINE
(A) Authentic (B) Original (C) Positive (D) Fake
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AU Rl R3a eamgEs 721 o et % ST wea -qRAsT # 7 AEITE w1 99+ YAt & Arqehl qr=rar
Ffera & St

1

AT I Tol@dT TTEET Fled & Tgel AT GeaT [IEdqehT il SAl-ATTd ST T of, 3@ & o 298 100 92 5 ( 80
TATERT FATH/EE & FaTerd TAT 20 FeaT ATHTT AR 9T F) e zod {ifEr waeft sreran s freg & g =y
Toi g1 Ffx et ware &t A1 FHT BT a1 TFaers w1 gierd w7 aAqT [RaHT g5 9| o7 g7 § e off wwre i
TS formET UT T8 § FiE A= A8l AT s

I TIHT ZAFE T HTLAH & HATIET 1 STTUIAT| 2 TH A AT AA-7 {27 A SALAT I TIHT A @A
A T ATYUT/AET T T I TORT b7 F7eq Fram ST st @ e gt o ey srereft aw gnf

AT 3T o [T FEOTTHT e Tl g

FeT-FAEeF T I TF0-I7 UL ZEATAT AT FLATU| S I ZEATEAT g1 HLATAT a7 3TehT IToAT TF FL &l
ST

Tg Uk FEqIF (el il TLIET g Ed T® 9ot & 1= wA0® (A) 7 (D) TF 9% Teqrad sa¥ &@F gl Teh
=T # 7 +ft 3T FE/Fa9g g 3E! AL TH, A, 39 97 H 37 e  sqan Fieed S| o7 397 9o
qfedet & 7 0|

A, TH. ATT. 3T T 9% gt a1 3 Forw wrt/Aier aiet w@ree U | oL e, v, e 39 T 9% aet it
T EF F FaA FHTA/AA T T2 U F qY| TF I QT T IT HT T8AT At ST qheTl

IAL-T5 T 7 AT TE A A T g1 A AT T T e arfs avme 97 56 7ig

FAGACT, TATSE &, HIATSA, FATACST ATSAT AT TH THIT il Fls AT Ik TA (et AT sreqaa/aeas ariT et
T TIRT G047 Fef | Fioia gl

T T qfeasr | Rt § fet ot arelt s | B sar =i, o ueL s, 39 9 e a7 A oft T A A
ERRELIE REIHE RS S EIE R CITIEE]

10

9RaT T (A, B, C U& D) AT J@TS H gL SMIAHT 3. TH. 3. IO T I Tl 92T Teaaht @ forgel
2l

11

AT T FHTTH 6 geard a1 IA-Tf=1 (OMR) Ta TEET & HaTad s AW 7T T& THAEF & [Ha9l FATER
ATIH T &1 AT-TTAT FUSHIT TILTE

12

BT T 92 % [oIT el U gl I SN H| Teh & ATEF IUC & T YT T &S 3 Agl [@FT SATUIT| 3T H
Tl AT FHIET T AAITSIET AT Aol (T T: vt FFATS = (Rt uar 3ivrsit) # 81 et srqare seweor # foret
T T9=IAT F1 I AT o, (o0, SIS SER0T &l SiaH AT ST




